< 00, > (M)

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

........................................

........................................

=
o2
iN

2 3
TPlpoT (PCA t%obeamlinélf)

n
) o
50.15_— """"""""""""""""""""""""
] o
o I S
v 0.1:— """
0,05 -] - drmme e
0:— ----------------------------------------------
0,05 -
_0.1:_ .............................................
—0.A5F -
P 0 VO T R R
F=RRE ks dh b oo SO o S RURPEPLRRRE e
@ o
0.5 FHAFHEFH A f -5

=
o
N

1

2 3
TPlpoT (PCA t%obeamlinélf)

<4

MKEIT_T 1base
mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter
mkFit_TT_baseline_6iter

mKkFit_TT RetrainV2_WP2_6iter

100

gof-- ] gt
60F- S S
40F | R A SUIE
20F- R AR SIS
ofF-|{}- el R IR
~20f-{- el S
~40F- ] SR S
—60F -4 J it |- S S——
—8oF- ..... SSOUROUS SRR
100l sl s
1_ REINN .,A doternnee ............
05f- L [ SRR s
oE :
107 ! TPlp?T (PCA t]éoéeamlin%93
5: .
4 L ] R Rais Sl
3 e R
2B e
1 Tl
oF -+t H+ |- S
b S S——
B 3011 T S
g S S——
| B """ e
-5F iy L
2F 11§ R ARRREREIEE LR
£ TR
o

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

g 100E T
= 80 S
N L :
S 60F-|-1 H A B R SRR AT L ELTECTER
o) r - .
VA0 ML b A
20F e
oF- 14 {F- |11 S S—
NI IR1 1 RS S
—aof- JEHHBH o
-60F FHF E RCLR SRERLTIRS
-80F FHA -t
9_10_0: 1 :: 1 |||||||! 1 |||||||! L
g f : :
D: 1:— e R R . ------------
0.55—- ------------------ ------------
10 t102 _10°
TPp, (PCA fo'beamlinég

1



	Contents
	Page 1


